Birzeit University
Faculty of Engineering & Technology
Civil Engineering Department
Statics - CE 232
Summer Semester 2018/2019

Midterm Exam — Saturday, July 20, 2019
Time total allowed = 75minutes
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Instructor and section:

Abdalrahman Hamdan — Section |

Abdalrahman Hamdan — Section 2

Abdalrahman Hamdan — Section 3 \/

Dr. Omar Zamo - Section 4

Farhat Majadbeh — section 5
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Problem | (Weight 25)

A. Replace the three forces shown by an equivalent
force—couple system at point A.

B. If the forces are replaced by a single resultant
force, determine the distance d below/ above point
A to its line of action.
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Problem 2 eight 25
The frame ABDE is supported by a fixed support at A and subjected t forces as shown in the
— diagram. Find the reaction of the support at A.
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Problem 3 (Weight25) _ .4 m

A 20 N thin ring of radius r = 140 mm is held against
a frictionless wall by a 125-mm string AB. Determine
(a) The distance d. =015

(b) The tension in the string,

(c) The reaction at C.
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Problem 4 (Weight 25
The frame shown consists two members ADB and BC that are joint together by a pin at B. Aand C

are pin (hinge) supports. A moment of 500 N.m is applied at D. Determine reactions at the pins A
and C.
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